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<page id="asnad-man">

<script id="main">
function changeColor(id) {
const buttons = ['asnadman', 'asnadother', 'sharelist']
for (const btn_id of buttons) {
if (btn_id === id) {

Appsan. setProperty(btn id, 'textcolor', '#55BECC');

Appsan. setProperty(btn id, 'background', '#EAFCFE');
} else {

Appsan. setProperty(btn_id, ' textcolor', ' #616161');

Appsan. setProperty(btn _id, 'background', 'white');

}

}

if (id === buttons[0]) {
Appsan. setProperty(' asnade-man', 'visibility', 'visible');
Appsan. setProperty(' other', 'visibility', 'gone');
Appsan. setProperty(' list', 'visibility', 'gone');

} else if (id === buttons[1]) {
Appsan. setProperty(' asnade-man', 'visibility', 'gone');
Appsan. setProperty(' other', 'visibility', 'visible');
Appsan. setProperty(' list', 'visibility', 'gone');

} else {

Appsan. setProperty(' asnade-man', 'visibility', 'gone');

Appsan. setProperty(' other', 'visibility', 'gone');


http://wiki.appsan.ir/uploads/images/gallery/2023-11/image-1699452098551.png
http://wiki.appsan.ir/uploads/images/gallery/2023-11/image-1699541802568.png
http://wiki.appsan.ir/uploads/images/gallery/2023-11/image-1699541895500.png

Appsan. setProperty(' list', 'visibility', 'visible');

function closeElem(id){

Appsan. setProperty(id, 'visibility', 'gone');

</script>

<frame weightsum="2" layout="linear vertical" gravity="center" margin="16"
width="match parent"
background="white" elevation="2" borderCornerRadius="2">
<frame weight="1" layout="linear horizontal" gravity="center" reverse="true"
margin right="16" margin top="16" margin left="10">
<img width="40" height="40" scaleType="fit center"
src="1images/asnad. png" />
<text width="wrap content" textsize="16" weight="1" textcolor="#1C4B78"
padding bottom="4" textalignment="right" text="I ol > py"/>
<img width="24" height="24" margin left="16" scaleType="fit center"
src="1images/alert-circle. png" />

</frame>

<frame layout="linear vertical" reverse="true" weight="1" margin="16">
<frame layout="linear horizontal" reverse="true" gravity="right"
background="#FAFAFA" borderCornerRadius="3" padding="10" >
<img width="24" height="24" src="images/search.png" scaleType="fit center"
padding top="16"/>
<textinput hint="ggegs. .. " textcolor="#ADADAD" textalignment="right"
textsize="11" background="transparent"
width="wrap content" />
</frame>
</frame>

</frame>

<frame layout="linear horizontal" background="white" borderCornerRadius="8" padding="28"
reverse="true" height="wrap content" width="wrap content">
<text gravity="center" textalignment="center" height="wrap content" padding="8"
textsize="12" id="asnadman" borderCornerRadius="4" textcolor="#55BECC" elevation="0"

background="#EAFCFE" text="l gyl o po" onclick="script/main: changeColor(' asnadman')" />



<text gravity="center" textalignment="center" height="wrap content" padding="8" textsize="12"
textcolor="#616161" id="asnadother" borderCornerRadius="4" elevation="0" background="white"
text="1 pol > @ s_so" onclick="script/main: changeColor(' asnadother')" />

<text gravity="center" textalignment="center" height="wrap content" padding="8"
textsize="12" textcolor="#616161" id="sharelist" borderCornerRadius="4" elevation="0"
background="white" text="Jsws | jw_ S ol " onclick="script/main: changeColor('sharelist')" />

</frame>

<frame layout="linear horizontal" id="alert-message" width="match parent" height="64"
margin top="12" background="#EBF8FF" reverse="true" gravity="center"
borderStrokeWidth="1"
margin left="16" margin right="16" borderColor="#C6E7F8" borderCornerRadius="4"
weightsum="1">
<text gravity="right" textalignment="right" text="d _o, S ps >, ob, ol o ol jus>
I wol 5 0pl s 5l 50 gwo pwsb wo W JVPAY o ol 5Ty ps ol go."  weight="1"
width="match parent"
padding right="10" textcolor="#7A7A7A" textsize="12"/>
<img width="20" height="20" margin left="16" gravity="left" scaleType="fit center"
src="images/x-circle. png" onclick="script/main: closeElem(' alert-message')" />

</frame>

<frame layout="linear vertical" id="asnade-man" visibility="visible"
borderStrokeWidth="1" borderColor="#EOEOEQ" weightsum="6" margin_top="20"
margin right="16" margin left="16" borderCornerRadius="6" padding="16">
<frame layout="linear horizontal" weight="1" weightsum="2"
reverse="true"
padding right="10" padding left="10" >
<frame layout="linear vertical" height="50" weight="1" gravity="right"
childgravity="right" padding top="10" padding bottom="10"
weightsum="1" reverse="true" background="white">
<text textsize="13" textcolor="##2E2E2E" textalignment="right"
gravity="right" textstyle="bold"
text="jpl jo wsud0" />
</frame>
<frame layout="linear vertical" height="50" weight="1" gravity="right"
childgravity="right" padding top="10" padding bottom="10" reverse="true"
background="white" >
<text textsize="12" textcolor="#616161" textalignment="1left"

gravity="1left"



text="\)raor- 1o\ \ VY- -\ YVY" />
</frame>

</frame>

<frame margin right="16" margin left="16"><divider color = "#EQEQEQ" size = "1"

></divider></frame>

<frame layout="linear horizontal" weight="1" weightsum="2"
reverse="true"
padding right="10" padding left="10" >
<frame layout="linear vertical" height="50" weight="1" gravity="right"
childgravity="right" padding top="10" padding bottom="10"
weightsum="1" reverse="true" background="white">
<text textsize="13" textcolor="##2E2E2E" textalignment="right"
gravity="right" textstyle="bold"
text="yse gun"/>
</frame>
<frame layout="linear vertical" height="50" weight="1" gravity="right"
childgravity="right" padding top="10" padding bottom="10" reverse="true"
background="white" >
<text textsize="12" textcolor="#616161" textalignment="1left"
gravity="1left"
text=" Jd so ol po €y ol Js' />
</frame>

</frame>

<frame margin right="16" margin left="16"><divider color = "#EOEOEQ" size = "1"

></divider></frame>

<frame layout="linear horizontal" weight="1" weightsum="2"

reverse="true"

padding right="10" padding left="10" >

<frame layout="linear vertical" height="50" weight="1" gravity="right"
childgravity="right" padding top="10" padding bottom="10"
weightsum="1" reverse="true" background="white">

<text textsize="13" textcolor="##2E2E2E" textalignment="right"

gravity="right" textstyle="bold"
text="uol jsg gun"/>

</frame>



<frame layout="linear vertical" height="50" weight="1" gravity="right" childgravity="right"
padding top="10" padding bottom="10" reverse="true"
background="white" >
<text textsize="12" textcolor="#616161" textalignment="1left"
gravity="1left"
text="\vas/-a/v- " />
</frame>

</frame>

<frame margin right="16" margin left="16"><divider color = "#EOEOEQ" size = "1"

></divider></frame>

<frame layout="linear horizontal" weight="1" weightsum="2"
reverse="true"
padding right="10" padding left="10" >
<frame layout="linear vertical" height="50" weight="1" gravity="right"
childgravity="right" padding top="10" padding bottom="10"
weightsum="1" reverse="true" background="white">
<text textsize="13" textcolor="#2E2E2E" textalignment="right"
gravity="right" textstyle="bold"
margin right="16" text="coo wol ss" />

</frame>

<imagebutton src="images/check. png" width="45" height="45"

scaletype="fit center" gravity="left"/>

</frame>

<frame margin right="16" margin left="16"><divider color = "#EQEQEQ" size = "1"

></divider></frame>

<frame layout="1linear horizontal" reverse="true" margin top="10" margin bottom="10"
padding right="10" padding left="10"

height="wrap content" width="match parent" weightsum="1">

<text textsize="13" textalignment="right" gravity="right" textcolor="#2E2E2E"
text="gpdyl <" height="wrap content" width="wrap content"
/>

<frame layout="linear horizontal" reverse="true" height="wrap content" weight="1"



gravity="1left" width="wrap content" childgravity="1left" margin="0"

padding="0">

<img margin top="7" scaleType="fit center" height="35" width="35"
padding="8" src="images/share. png" gravity="center" onclick="dialog/dialog-eshterak"

/>

<frame layout="linear horizontal" borderStrokeWidth="0. 5"
borderColor="#55BECC" borderCornerRadius="3"
height="wrap content" width="wrap content" reverse="true" padding="7"
onclick="">
<img padding="0" margin="0" margin left="8" scaleType="fit center"
width="23" height="23" src="images/printer.png" gravity="center" />
<text padding="0" margin="0" textalignment="center vertical"
textcolor="#55BECC" textsize="9" text=">_ul o wy" height="wrap content"
width="60" />
</frame>
</frame>

</frame>

<frame margin right="16" margin left="16"><divider color = "#EQEQEQ" size = "1"

></divider></frame>

<frame layout="linear horizontal" reverse="true" weight="1"

width="wrap content">

<imagebutton src="images/details. png" width="150" height="70"
scaletype="fit center" gravity="right" onclick="page/details" />

<imagebutton src="images/tozihat. png" width="150" height="70"
scaletype="fit center" gravity="left" onclick="dialog/dialog-tozihat" />

</frame>
<frame margin right="16" margin left="16"><divider color = "#EQEQEQ" size = "1"
></divider></frame>
<text textsize="13" textcolor="##2E2E2E" textalignment="right"
gravity="right"
text=""/>

</frame>



<frame id = "other" visibility="gone" layout="linear vertical" borderStrokeWidth="1"
borderColor="#EQEOQEO" weightsum="6" margin top="20"

margin right="16" margin left="16" borderCornerRadius="6" padding="16">

<frame layout="1linear horizontal" weight="1" weightsum="2"
reverse="true"
padding right="10" padding left="10" >
<frame layout="linear vertical" height="50" weight="1" gravity="right"
childgravity="right" padding top="10" padding bottom="10"
weightsum="1" reverse="true" background="white">
<text textsize="13" textcolor="##2E2E2E" textalignment="right"
gravity="right" textstyle="bold"
text=" gyl jo v sud0"/>
</frame>
<frame layout="linear vertical" height="50" weight="1" gravity="right"
childgravity="right" padding top="10" padding bottom="10" reverse="true"
background="white" >
<text textsize="12" textcolor="#616161" textalignment="1left"
gravity="1left"
text="1rapr- 1o Y- vVYV! />
</frame>

</frame>

<frame margin right="16" margin left="16"><divider color = "#EQEOEQ" size = "1"

></divider></frame>

<frame layout="1linear horizontal" weight="1" weightsum="2"
reverse="true"
padding right="10" padding left="10" >
<frame layout="linear vertical" height="50" weight="1" gravity="right"
childgravity="right" padding top="10" padding bottom="10"
weightsum="1" reverse="true" background="white">
<text textsize="13" textcolor="##2E2E2E" textalignment="right"
gravity="right" textstyle="bold"
text="uoe 0" />
</frame>
<frame layout="linear vertical" height="50" weight="1" gravity="right"
childgravity="right" padding top="10" padding bottom="10" reverse="true"
background="white" >



<text textsize="12" textcolor="#616161" textalignment="1left"
gravity="1left"
text="_ud so ol po Esy el JS' />
</frame>

</frame>

<frame margin right="16" margin left="16"><divider color = "#EOEOEOQ"

></divider></frame>

<frame layout="linear horizontal" weight="1" weightsum="2"
reverse="true"

padding right="10" padding left="10" >

size = "1"

<frame layout="linear vertical" height="50" weight="1" gravity="right"

childgravity="right" padding top="10" padding bottom="10"

weightsum="1" reverse="true" background="white">

<text textsize="13" textcolor="##2E2E2E" textalignment="right"

gravity="right" textstyle="bold"
text="cl st gwo" />

</frame>

<frame layout="linear vertical" height="50" weight="1" gravity="right"

childgravity="right" padding top="10" padding bottom="10" reverse="true"
background="white" >
<text textsize="12" textcolor="#616161" textalignment="1left"
gravity="1left"
text="\vas/-a/v- " />
</frame>

</frame>

<frame margin right="16" margin left="16"><divider color = "#EQEOEOQ"

></divider></frame>

<frame layout="1linear horizontal" weight="1" weightsum="2"
reverse="true"

padding right="10" padding left="10" >

size = "1"

<frame layout="linear vertical" height="50" weight="1" gravity="right"

childgravity="right" padding top="10" padding bottom="10"

weightsum="1" reverse="true" background="white">

<text textsize="13" textcolor="##2E2E2E" textalignment="right"

gravity="right" textstyle="bold"



text="poo el v o ds el wo | gl S'/>
</frame>
<frame layout="linear vertical" height="50" weight="1" gravity="right"
childgravity="right" padding top="10" padding bottom="10" reverse="true"
background="white" >
<text textsize="12" textcolor="#616161" textalignment="Tleft"
gravity="1left"
text="0 L9, \V 4 go"/>

</frame>

</frame>

<frame margin right="16" margin left="16"><divider color = "#EQEOEQ" size = "1"
></divider></frame>

<frame layout="linear horizontal" weight="1" weightsum="2"
reverse="true"

padding right="10" padding left="10" >
<frame layout="linear vertical" height="50" weight="1" gravity="right"
childgravity="right" padding top="10" padding bottom="10"
weightsum="1" reverse="true" background="white">
<text textsize="13" textcolor="##2E2E2E" textalignment="right"
gravity="right" textstyle="bold"
margin _right="16" text="soo wol ss"/>

</frame>

<imagebutton src="images/check. png" width="45" height="45"
scaletype="fit center" gravity="left"/>

</frame>

<frame margin right="16" margin left="16"><divider color = "#EQEOEQ" size = "1"
></divider></frame>

<frame layout="1linear horizontal" reverse="true" margin top="10" margin bottom="10"
padding right="10" padding left="10"

height="wrap content" width="match parent" weightsum="1">

<text textsize="13" textalignment="right" gravity="right" textcolor="#2E2E2E"
text="¢gpduyl &" height="wrap content" width="wrap content"

/>

<frame layout="linear horizontal" reverse="true" height="wrap content" weight="1"

gravity="1left" width="wrap content" childgravity="1left" margin="0"



padding="0">

<frame layout="1linear horizontal" borderStrokeWidth="0. 5"
borderColor="#55BECC" borderCornerRadius="3"
height="wrap content" width="wrap content" reverse="true" padding="7"
onclick="">
<img padding="0" margin="0" margin left="8" scaleType="fit center"
width="23" height="23" src="images/printer.png" gravity="center" />
<text padding="0" margin="0" textalignment="center vertical"

textcolor="#55BECC" textsize="9" text=">_ul o wy>" height="wrap content"

width="60"/>
</frame>
</frame>
</frame>
<frame margin right="16" margin left="16"><divider color = "#EOEOEQ" size = "1"
></divider></frame>
</frame>
<frame id = "1list" visibility="gone" layout="linear vertical" borderStrokeWidth="1"

borderColor="#EQEOQEO" weightsum="6" margin top="20"

margin right="16" margin left="16" borderCornerRadius="6" padding="16">

<frame layout="linear horizontal" weight="1" weightsum="2"
reverse="true"
padding right="10" padding left="10" >
<frame layout="linear vertical" height="50" weight="1" gravity="right"
childgravity="right" padding top="10" padding bottom="10"
weightsum="1" reverse="true" background="white">
<text textsize="13" textcolor="##2E2E2E" textalignment="right"
gravity="right" textstyle="bold"
text="jyl jo o sud0"/>
</frame>
<frame layout="linear vertical" height="50" weight="1" gravity="right"
childgravity="right" padding top="10" padding bottom="10" reverse="true"
background="white">
<text textsize="12" textcolor="#616161" textalignment="1left"
gravity="1left"
text=")rapr- 1oy Yy- - VYV />

</frame>



</frame>

<frame margin right="16" margin left="16"><divider color = "#EOEOEQ" size = "1"

></divider></frame>

<frame layout="1linear horizontal" weight="1" weightsum="2"
reverse="true"
padding right="10" padding left="10" >
<frame layout="linear vertical" height="50" weight="1" gravity="right"
childgravity="right" padding top="10" padding bottom="10"
weightsum="1" reverse="true" background="white">
<text textsize="13" textcolor="##2E2E2E" textalignment="right"
gravity="right" textstyle="bold"
text="usg gun" />
</frame>
<frame layout="linear vertical" height="50" weight="1" gravity="right"
childgravity="right" padding top="10" padding bottom="10" reverse="true"
background="white" >
<text textsize="12" textcolor="#616161" textalignment="1left"
gravity="1left"
text="_ud so ol po Esy el Js' />
</frame>

</frame>

<frame margin right="16" margin left="16"><divider color = "#EQEOEQ" size = "1"

></divider></frame>

<frame layout="1linear horizontal"” weight="1" weightsum="2"
reverse="true"
padding right="10" padding left="10" >

<frame layout="linear vertical" height="50" weight="1" gravity="right"

childgravity="right" padding top="10" padding bottom="10"
weightsum="1" reverse="true" background="white">
<text textsize="13" textcolor="##2E2E2E" textalignment="right"
gravity="right" textstyle="bold"
text="cl Lsg guo" />
</frame>
<frame layout="linear vertical" height="50" weight="1" gravity="right"

childgravity="right" padding top="10" padding bottom="10" reverse="true"



background="white" >
<text textsize="12" textcolor="#616161" textalignment="1left"
gravity="1left"
text="\vas/-a/v- " />
</frame>

</frame>

<frame margin right="16" margin left="16"><divider color = "#EQEOEQ" size = "1"

></divider></frame>

<frame layout="linear horizontal" weight="1" reverse="true"
padding right="10" padding left="10" >
<frame layout="linear horizontal" height="50" weight="1" gravity="right"
childgravity="right" padding top="10" padding bottom="10"
weightsum="1" reverse="true" background="white">
<text textsize="13" textcolor="##2E2E2E" textalignment="right"
gravity="right" textstyle="bold"
text="poo el v o ds el o | gl S'/>
</frame>
<frame layout="linear horizontal" height="50" weight="1" gravity="right"
childgravity="right" padding bottom="10" reverse="true"
background="white" >
<text textsize="12" textcolor="#616161" textalignment="left"
gravity="1left"
text="0 L9, \V W go"/>
<img src="images/laghv. png" padding="0" width="32" height="32"
scaleType="fit center" gravity="left"/>

</frame>

</frame>

<frame margin right="16" margin left="16"><divider color = "#EQEOEQ" size = "1"
></divider></frame>

<frame layout="1linear horizontal" weight="1" weightsum="2"
reverse="true"

padding right="10" padding left="10" >
<frame layout="linear vertical" height="50" weight="1" gravity="right"
childgravity="right" padding top="10" padding bottom="10"
weightsum="1" reverse="true" background="white">

<text textsize="13" textcolor="##2E2E2E" textalignment="right"



gravity="right" textstyle="bold"
margin right="16" text="sovo wol ss'/>

</frame>

<imagebutton src="images/check. png" width="45" height="45"

scaletype="fit center" gravity="left"/>

</frame>
<frame margin right="16" margin left="16"><divider color = "#EOEOEQ" size = "1"

></divider></frame>

<frame layout="linear horizontal" reverse="true" margin top="10" margin bottom="10"
padding right="10" padding left="10"

height="wrap content" width="match parent" weightsum="1">

<text textsize="13" textalignment="right" gravity="right" textcolor="#2E2E2E"
text="¢gpdsl <" height="wrap content" width="wrap content"

/>

<frame layout="1linear horizontal" reverse="true" height="wrap content" weight="1"
gravity="1left" width="wrap content" childgravity="1left" margin="0"
padding="0">

<frame layout="linear horizontal" borderStrokeWidth="0. 5"
borderColor="#55BECC" borderCornerRadius="3"
height="wrap content" width="wrap content" reverse="true" padding="7"
onclick="">
<img padding="0" margin="0" margin left="8" scaleType="fit center"
width="23" height="23" src="images/printer.png" gravity="center" />
<text padding="0" margin="0" textalignment="center vertical"
textcolor="#55BECC" textsize="9" text=">_ 4l o wy" height="wrap content"
width="60" />
</frame>
</frame>

</frame>

<frame margin right="16" margin left="16"><divider color = "#EOEOEQ" size = "1"

></divider></frame>



</frame>

</page>

<page id="asnad- man-not">
<frame weightsum="2" layout="linear vertical" gravity="center" margin="16"
width="match parent"
background="white" elevation="2" borderCornerRadius="2">
<frame weight="1" layout="linear horizontal" gravity="center" reverse="true"
margin right="16" margin top="16" margin left="10">
<img width="40" height="40" scaleType="fit center"
src="1images/asnad. png" />
<text width="wrap content" textsize="16" weight="1" textcolor="#1C4B78"
padding bottom="4" textalignment="right" text="l gl > pu"/>
<img width="24" height="24" margin left="16" scaleType="fit center"
src="1images/alert-circle. png" />

</frame>

<frame layout="linear vertical" reverse="true" weight="1" margin="16">
<frame layout="1linear horizontal" reverse="true" gravity="right"
background="#FAFAFA" borderCornerRadius="3" padding="10" >
<img width="24" height="24" src="images/search.png" scaleType="fit center"
padding top="16"/>
<textinput hint="ggwgse. .. " textcolor="#ADADAD" textalignment="right"
textsize="11" background="transparent"

width="wrap content"/>

</frame>
</frame>
</frame>
<l -- <frame layout="linear horizontal" weight="1" weightsum="1" reverse="true"-->
<l-- padding right="10" padding left="10" >-->

<frame layout="1linear vertical" height="50" padding right="10" weight="1"
gravity="right" padding top="10" padding bottom="10"
weightsum="1" reverse="true" background="white">
<text textsize="13" textcolor="#2E2E2E" textalignment="right"
gravity="right"
text="eo o | gl 5" />
</frame>

<l -- </frame>-->



<frame layout="linear horizontal" width="match parent" height="64" margin top="12"
background="#EBF8FF" reverse="true" gravity="center" borderStrokeWidth="1"
margin left="16" margin right="16" borderColor="#C6E7F8" borderCornerRadius="4"

weightsum="1">

<text gravity="right" textalignment="right" text="d Lo, S pd >, ob, ol o ol jus>
| ol 5 0pl s 5l 50 jwo pwsb wo W JVPAY o ol 5Ty ps ol go."  weight="1"
width="match parent"

padding right="10" textcolor="#7A7A7A" textsize="12"/>

<img width="20" height="20" margin left="16" gravity="left" scaleType="fit center"
src="images/x- circle. png" onclick="app/closeDialog" />

</frame>

<frame layoutgravity="center" layout="linear horizontal" width="match parent"
height="100" margin top="80" gravity="center" childgravity="center">
<img width="88" height="88" gravity="center" src="images/searchnot. png"

scaleType="fit center" selfgravity="center horizontal" onclick="app/end" />

</frame>

<text gravity="center" textalignment="center" text="pg 05 d & yjw"
textcolor="#616161" textsize="13"/>

<imagebutton src="images/bazgasht. png" scaletype="fit center" margin top="30"

width="wrap content" onclick="app/end" />

</page>
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